
s=g]kfn ;/sf/ cg'bfg tyf cfGt/Ls s'n

l;=g= ljj/)f /sd ? l;=g= /sd ?

gu/kflnsf -6000000_ 1 1,200,000.0       

ejg lgdf{)f -7500000_ 2 1,500,000.0       

lgzt{ -21297000_ 3 s_ 10,000,000.0      

;fem]bfl/ :yflgo lasf;

sf]if -8717000_ v_ 500,000.0        

24,597,000.0      

s_ 2,460,000.0  10%

v_ 2,460,000.0  10%

1 h]i& gful/s 492,000.0   2%

2 blnt 492,000.0   2%

3 cflbjf;L hghftL 1,229,000.0  5%

4 ckfª\u 492,000.0   2%

5 dw];L d\l:nd lk%*f ju{{ 492,000.0   2%

6 o'jf 492,000.0   2%

5 9,593,000.00      

6 6,395,000.00      

7 8,717,000.00      

hDdf 46,514,000.0  46,514,000.0      

ejg lgdf{)f gu/kflnsf46,514,000.0  1

g]kfn ;/sf/

b]jbx gu/kflnsf sfof{no ?kGb]xL

cfDbfgL vr{
s}lkmot

ljj/)f

cf=j=073.074 sf] nfuL cg'dflgt k"+lhut vr{ ljj/)f

sG^]Gh]G;L

;dk'/s sf]if

cfs:lds ;]jf-;/;kmfO tyf d/dt ;Def/_

hDdf afls

4 nlIft ;d\x ljsf; sfo{qmd

cfly{s ;fdflhs Pjd ef}lts k\jf{wf/ ljsf; sfo{qmd

k|{j$gfTds sfo{qmd

hDdf

8,609,000.0      

dlxnf z;lQms/)f

jfnjflnsf sfo{qmd

u_ cfly{s ljkGg cGo nlIft ;d'x

;fem]bfl/ sfo{qmd :yflgo lasf; sf]if
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l;=g+= ah]6 lzif{s ljlgof]hg x'g] /sd k|ltzt s}lkmot

! ! of]hgf 

%% k|ltzt

@ !) k|ltzt

# !) k|ltzt

$ !@ k|ltzt

% * k|ltzt

^ % k|ltzt

& sl/j @^ k|ltzt

*  @) k|ltzt

(  !) k|ltzt

!)  !) k|ltzt

!! !) k|ltzt

!@ !) k|ltzt

!#  % k|ltzt

!$ ( k|ltzt

8,717,000.00                   7'nf ltg of]hgf x?:yflgo lasf; sf]if 

Go'gtd #) nfvsf] ko{6gsf] of]hgf 

cfly{s ;fdflhs tyf 

ef}lts k'j{wf/ lasf; 

s'n ah]6 

k|j{bgfTds of]hgf 

s'n ah]6 *%!*$@^.*)

;fj{hlgs lgdf{0f

af6f] u|fj]n

s[lif If]q

:jf:Yo 

jg tyf aftfj/0f 

6f]n ;'wf/ ;ldlt pTkfbg d'ns lqmofsnfk

sfo{qmd lzif{s

ko{6g lasf;

l;rfO{

sfnf]kq]

sNe{6 lgdf{0f

vfg]kflg

x\o"d kfO{k 

ko{6g lasf;

j8f af6 ;f]emf} dfu ePsf @ nfvsf of]hgf 
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